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Exam 2

Fall 2009
1. Name or draw the following

a. (E)-3-bromo-2-iodo-2-pentene

b. trans-2-butene

c. cis-3,4-dimethyl-3-hexene

d. 5,5-dimethyl-1-3-cyclopentadiene
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2. Mechanism: Halogenation

Draw the complete mechanism for the halogenation of (E)-2-pentene with molecular bromine to synthesize 2,3-dibromopentane

3. For the following radical reaction show the mechanism including the initiation, propagation and termination steps
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4. Draw the complete mechanism for the electrophillic addition of HBr to 1-pentene, show 2 possible bromoalkyl products

Out of the two bromoalkyl products that could form only one does.  Which one?  Why?

5. Fill in the boxes:  For cyclic compounds use 3-D wedge and dashed line to show stereochemistry
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6.  

a. On the following potential energy diagram label:

Reactants, Products, Transition states, Intermediates

Does the 1st transition state structurally resemble the reactant or product?  Why?

b. On the following potential energy diagram label:

(H

Ea
Is this reaction endo or exothermic?

If a catalyst is added how will the diagram change?
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